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- In Value Added Accounting, the value added by

a company is redistributed to -

1. Yeu HeHT i ¥ e S g

Hae[ @ g faaRa e o 2 —

(1) Shareholders and Government (1) sireneent 3N e o
(2) Employees (2) HHaiRal |
(3) Providers of loan capital 2 () 3 T @ vl §
(4) All of the above e (@) SuRtE " F
(5) Question not attempted (8) SR W
2. In which method of depreciation, Asset account Toumd @ e fafe # |uft @ & 6
is debited with interest? oo 3= T Frar 87
(1) Annuity Method (1) aififw afey Rl
(2) Sum of Years' Digit Method (2) Tat &7 T 3w AR
(3) Insurance Policy Method (3) S Gire AR
(4) Service Hours Method (4) Tar g AR
(3) Question not attempted (5) arFpere e
3. The assumption of MM hypothesis of capital - oft \veET @ gATH. uR@eE @1 grRen A
structure do not include the following - fFreferaa wive =8 & —
(1) All firms can be classified into (1) it wdl @1 Fordtg s gt # gefiea
homogeneous risk classes fisa o1 W B |
(2) The dividend payout ratio is cent percent (b3 1 e s B B L b 4
and there is no corporate tax. - F1e FrTH—a% 78 £
(3) Capital markets are imperfect % (3) Toft arar a;u‘;uf g
(4) Investers have homogeneous expectations (4) frasret @ ve waE e &)
(5) Question not attempted (8) srgaila we
4. Adverse material price variance arises due 10 - - gitmer Wl ey famRr fews wRer 9w
(1) Purchase of low quality material than the grar 87
standard (1) warg ¥ @9 ToTE a9 @ g9y
(2) Increase in the value of raw material (2) Fe) 7t @ e ¥ gfE
(3) Good price negotiation with vendors (3) Aol & 9 =l F9d W AE—aTg
(4) All of the above (@) T T
(5) Question not attempted (5) argerRer wes
5. Opening Entry is passed in the - - urfre wfafte & ol & —
(1) General Journal or Journal Proper (1) AW oFE /W WA H
(2) Cash Book (2) g ad A
(3) Sales Book (3) faa a8 4
(4) Purchases Book : (#) wa w6 4
(5) Question not attempted : : (8) arile ue
6. Accounting cycle includes - . e T ¥ Wi & —
(1) Financial Statement (2) Ratio Analysis (1) fafa fgwor (2) srura fawemor
(3) Cash Flow (4) All of the above (3) IrFe ware fRAaww (@) o Wi
Statement &
(5) Question not attempted ®) N
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10. Product design is an example of which activity
level group?
(1) Product Level Activity
(2) Unit Level Activity
(3) Batch Level Activity
(4) Facility Level Activity
(5) Question not attempted
1. X and Y were partners sharing Profit/Losses as
2:1. They admit Z as a new partner, giving him
=™ share of future profits. What should be the
new profit sharing ratio?
(1) 6:3:2 (2) 2:2:1 -
() 8:4:3 (4) 5:3:2 e
(5) Question not attempted 1
12. Provision for doubtful debts is created due to -

.............. is calculated by using the following
formula -

Factory overheads+Administrative overheads =45

(2) Cost of Production = b+ ]

(1) Prime Cost
(3) Cost of Goods Sold (4) None of the above
(5) Question not attempted

Out of these, which one is included in mixed
farming?

(1) Poultry farming  (2) Horticulture

(3) Sericulture (4) All of the above
(5) Question not attempted

Indicate which of the following statement is not

false regarding Management Accounting?

(1) Management Accounting is statutory
obligation.

(2) Management accounting reports are puhlt(:
document.

(3) GAAP constitute the basis for the
preparation of management accounting
reports.

(4) Management accounting caters internal
requirements of the management.

(5) Question not attempled

(1) Matching Concept

(2) Dual- Aspect Concept

(3) Convention of Consistency
(4) Convention of Conservatism
(5) Question not attempted

B

7.

10.

11.

12.

Fr=ifee ¥ &1 warT s gU a fem
ST —

@ Juflary + wemrafas guRem =

(1) & @rTa (2) SearEs anrd

(3) &9 A "1 B (4) SURIET § W 8
T Bl

(5) arpafa weA

?ﬁﬁﬁmﬁrﬁaﬂﬁnﬁmﬁam

(1) wefiare (2) arrar

(3) v &le et (4) SuRiET W

(5) sreifer W

qang & waw d@ies & Haw o Fafafag §

F P B ToAd T8 27

(1) gaer oEid UF duife sifiee 2

(2) yaer oraime RUE e swad €|
(3) GAAP wae ol Rue &uR & &1
HEN G9a1 &1

(8) waer @i WAy @ SRS aravadmarsi
B QR BT # |
(5) srgmita ge

warg fEongs, frw fvr wdg o &1 @
FaTEvr &7

(1) gaure wdg B

(2) g1 wdr e

(3) Wy wrdia s

(4) e wrdr fo

(5) argeifer W

X 3R Y 2:1 % /& fenfor v ge
mﬂlﬂzﬁﬁmwﬁﬁgﬁméﬁ
BY 719 WIER & W9 yAw & & | 4

A fWTeT ST @ grme

(1) 6:3:2 (2) 2:2:1

(3) 8:4:3 (4) 5:3:2

(5) argafa v

™ MO & JGOH §9F B PRI § —
(1) SugeTar & FErm

(2) ga—uer wra=ll srquRon

(3) gemwmaaT WA= 9

(4) wfearfear wa=f g

(5) argaiRe W
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13. Which of the following point illustrates the use 13

of Hedging (or matching) approach of

financing?

(1) The firm uses more of short-term funds for
financing both current and fixed assets.

(2) The firm finances its fixed assets and a part

of temporary current assets with long-term

freretiad § W S faw R & R
(an frer) gfeam & @ cufar &2

o (1) W aTe iR W Wt 9 @

oo & forr scawifas e &
Fiferd ST B # |

(2) i oo <o) Haftral 3k sl e
wuftral & s few o dedefore

financing. faemagor & ar Aeafia s &
(3) The firm uses long-term funds for financing (3) ¥ el wafeat it v wre St
fixed assets and permanent current assets @ fwdmr @ o s FR o
(4) None of the above WT?! Eﬁ_ﬁﬁ 8|
(5) Question not attempted 2 # ¥ i
(5) srgeilee wes
14. A fund in which the assets are administered by 14. v Y v oRwaREt &1 gam SR
the Government in a fiduciary capacity - gy fasaiEn emen & o an & —
(1) General fund (2) Sinking fund (1) [ e (2) f3em 4
(3) Trust fund (4) Special fund (3) 7%= (4) fagw fAfy
(5) Question not attempted (5) sEifte oo
15. After the amendment made by the Companies A s, 2013 & A $ uvEn, a9
Act, 2013, now CSR has become - ﬁ MUHAR, 99 T g -
| (1) Philanthropy (2) Voluntary b A (1) RIUEN (2) wfeos
(3) Charitable (4) Mandatory (3) erfef (4) arfard
(5) Question not attempted (5) araia wes
16. Which Section of Companies Act, 2013, is 16. o afafrgw 2013, 91 FE0 9R7 T99
applicable for issue of Bonus Share? s frifie &7 &g @ &7
(1) Section 132 (2) Section 63 (1) &y 132 (2) g1 63
(3) Section 123 (4) Section 163 (3) g 123 (4) T 163
| (5) Question not attempted (5) e Wt
17. Which one is NOT the non-financial measure of 17 fuyresi seaiae &1 R—fA<ia 79 S 78
performance evaluation? 87
(1) Minimisation of wastage (1) & 1 =YATH HAT
(2) Productivity (2) FETEHal
(3) Return on capital employed (3) fafyafre o w ufrwa
(4) Market share of each major product (4) ye® e IE A R RREd
(8) Question not attempted _,.._:. (5) argee e
18. Responsibility Accounting is a sysem of - 8. SRt SraiE U@ WoTe & —
(1) Corporate Accounting (1) fm erEte= &
(2) Financial Accounting (2) < ogie= 91
(3) Mechanised Accounting (3) Tfgre eratdA ot
(4) Management Accounting (4) yag SEiE &
(5) Question not attempted (8) argee we
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19. ABC Ltd. is a financial company, which

receives dividend of T 50,000 on its investment
in other company's shares. This dividend is
classified under -

(1) Cash flow from operating activity

(2) Cash flow from investing activity

(3) Cash flow from financing activity

(4) None of the above

(5) Question not attempted

20. The following costs have arisen in relation to

the production of a product -

(A) Purchase of capital equipments

(B) Maintenance cost of capital equipments
(C) Training cost

(D) Inventory cost

In calculating the life cycle cost of a product,
which of the above items would be excluded?

o'

19. it forfies U fada Suss & s &

@ 9 # a9 9v.50,000 T FT1 I W
FYN & | §9 Ay B e fear s -
(1) gRtare= wfafafr § o5 yae

(2) Fae wfofaf & F@e waE

(3) faefra R & e yaE

(4) woRiee & 9 wrd T8

(5) srgafea wes

. et 9 @ 9 @ wWaw o FPreefaftaa

AT S g8 € —

(A) ofrra Susvof o @iy

(B) Toflre Suavvll 3 We—@rg @nra

(C) widmrer @

(D) g @

frddl Seare @) Sitas 9 ST @ 9T P
THG, SUNER § | B HE @Y Bler Se?
(1) (A) 3R (B) (2) (C) 3w (D)

(1) (A) and (B) (2} (C) and (D) - A
(3) Only (B) (4) None of the abuv;ﬁ ) 2 P) " 8 R
(5) Question not attempted e e SR o

21. Which of the following is not a characteristic of 21 F=ifeifRea # & wr=lt wwem i & e
equity shares? 8] 27
(1) It can be converted into preference share. (1) 5% fermr il # agon o W & |
(2) It is the risk capital of the company. (2) & Fwf @ il g
(3) It ias o preferential right to dividend. @) ?g‘*‘ I FT B A SR
(4) It has voting power.
(3) Question not attempted ::; mg:fﬁ il it

22. When Equity Share Capital < Debt + Preference ~ 22- 37¥ e 3i91 ot < 91 + qaifersr afer
Share Capital, then it will be known as - qofl & o1 39 AT W —
(1) Trading on thin equity (1) areq HET U SO
(2) Trading on thick equity (2) o+ /Fea |HAT IX AT9R
(3) Capital Rationing (3) ol ST
(4) None of these = @) 3 9 FE
(5) Question not attempted - '..‘_.'.‘-. (5) s He

23. When a new partner gives cash for goodwill, 2. /g Ue 141 WEER g & 6w Gee <6 8,
the amount is credited to the - o I Al S B e § —
(1) No entry (2) Capital A/c of the (1) &1 ufafee =& 2 f1(@2) 59 aEeR & fiiﬁ

New Partner IR

(3) Goodwill Afc (4) Cash Alc (3) wnfy @ & @) FHe @y
(5) Question not attempted ) s we
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24. Match List- with List-Tl and select the correct 24 F#1-1 &1 -1l ¥ fiemd i gfeat & =

answer by using the code given below the lists - fau v Fe & SUAT Hee wel oY g —
List-I List-TI E b -1 -

(A) Operating Lease (i) Direct lease = =1 qiaTer qeer (i) §euss 9eet

(B) Financial Lease (ii) Provides liquidity (B) faritr weet (ii) T 3 Wi
and possible tax T’g“ T HETT PR
gains :

(C) Salc-and-lease back (i) Short-term © 'W’ﬂi TR ARE R (i) S

(D) Leveraged lease (iv) Includes a third (D) SEE YT (iv) 5% T draa

party, a lender UH, TP FOTETT

Code - miAe &

(1) Aii), B~(ii), C~(i), D~(iv) T -

(2) A-(iv), B-(i), C-(iii), D~(ii) (1) A-(iii). B-(ii), C-(i), D-(iv)

(2) A-(iv), B-(i), C-(1ii), D-(ii)

B &-Ah), B4, G, D-G) (3) A-(iv), B-(iii), C(ii), D-(i)

(4) A-(iii), B-(1), C-(ii), D~(iv) (4) A-(iii), B-(i), C-(ii). D-(iv)
(5) Question not attempted (5) areiita weA

25. RD Lud. issued to vendor 1000 equity shares » RD fafes =1 1,00,000F @1 w98 #51 @de
%100 cach as fully paid-up in consideration 9F ) W i wAE & wY ¥ WP 1003 B 1000
the purchase of machinery worth ¥ 1,00,000. sfaadt dmx fRdar &1 wd f5a)

What entry will be recorded in Company’s FHA F oifel ¥ aa1 ufafie go &1 Sed?

Journal? (1) Machinery a/c Dr. 1,00,000¥ To Cash a/c
(1) Machinery a/c Dr. Z 1,00,000 To Cash a/e 1,00,000

T 1,00,000 (2) Vendor's afc Dr. 1,00,000 ¥ To Machinery
(2) Vendor's afc Dr. T 1,00,000 To Machinery ale 1.00.000 7

a/c T 1,00,000 (3) Vendor's a/c Dr. 1,00,000 ¥ To Equity
(3) Vendor's afc Dr. T 1,00,000 To Equity Share Share Capital a/c 1,00,0003

Capital a/c ¥ 1,00,000 (4) Equity Share Capital a/c Dr. 1,00,000% To
(4) Equity Share Capital a/c Dr. ¥ 1,00,000 To Machinery a/c 1,00,000 2

Machinery a/c T 1,00,000 (8) ar=ilRe W

(5) Question not attempted
26. Which method of Human Resource Accounti 26. g WEEA onaied B e A wed @
states that only scarce people should cmnprisﬁ}',,ll;_l'_!;a & @aa e @l & 8 " waEE @
.

the value of human resources? . Heu H wfie & aney?
(1) Economic Value Method (1) anfdfe wew fafey

(2) Replacement Cost Method (2) gftrema= g fafe
(3) Historical Cost Method (3) tferefirs omra faf

(4) Opportunity Cost Method™
(3) Question not attempted

(4) e @ Aty

(8) srpafva we

39. @ Page 6 of 32



27. Which of the following is treated as overriding 27. frsfafed 4 9§ 5% 35999 (overriding) arer

preferential payment? M ITE i S 27

(1) Income tax liability for the current year (1) =reg 99 & fore smaae S9et 2,70.000 T
$2,70.000 (2) 75,0003 #1 FEH T

(2) Legal charges worth ¥ 75,000 @ (3) s 5 2 Torgdl Ud A 50,000

(3) Wages and Salary due to workers ¥ 50.000" () Tar

(4) All of the above (5) Wﬁﬁ 9q

(5) Question not attempted
28. ‘Premium on issue of shares’ can be used for - 28. “ajgy fnfws ww fiftaw @1 Sgam fFr o

{A) Issue of Bonus Shares T & — :
(B) Writing off preliminary expenses (A) 379 37 Frfee &g
(C) Distribution of profits (B) W @l & s gq
(D) Buyback of its own share (©) W# “ﬁ 1I3EI_1UI &g
The correct option would be - %mﬁ i ﬂ?ﬁ g  ¥g
(1) Only (C) (1) &34 (C)
(2) (A), (B) and (D) (2) (A). {B]. a,ﬂ-\r (D)
@) (A). B). (C) and (D) (3) (A), (B), (C) 3R (D)
@) (A)and (B) (#) (A) 3l (B)
(8) Question not attempted (5) s wes
29. The given figure represents the relationship 28. e form XYZ faifes # @mra, it i
cost, profit and investment centres in XYZ Lifis= i @i & waw &t zoifar ¥ | sowafie
In terms of Responsibility Accounting, mark @i B gite |, 37 def ®) 9fta Wy 9
these centres appropriately — fAfeg # —
XYZL (V7 e

A - Dwvits 5] |[Divisien - : A -  [E=mal [mm+n|

5 — [Fodeix] [T'm;::f] [Paixiz) B - [ex] EFEry ] G

c — "m‘_‘_‘ on | | Service f —_— ey e oL

|| L wEl e &1 gua Hifog —
Choose the correct option - (M) A- fFas @ (2) A-Tmm Bg
(1) A- Investment (2) A- Profit centres B- oM B B- B B
centres B- Investment

B- Profit centres centres J C- @ &% C-arma %

ok E— f:m: cﬂ"zi ” i- fﬂ-‘il jﬂtﬁ T O A-GrT B (4) A- Framr B
- Cost centres ) A- Investment ¢ s
B- Investment entres = _ P i i
centres B- Cost centres C- @4 &7 C- & &%
C- Profit centres C- Profit centres (5) srefa W

(5) Question not attempted
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30. The accounting equation, Assets = Capital +

Liabilities, is based on which concept?

(1) Matching (2) Dual Aspect .
(3) Money (4) Accounting Period :'}-n.,
by
Measurement by

(5) Question not attempted

31. When were Indian Accounting Standards (Ind-

AS) first introduced for listed companies in

India?
(1) 2010 (2) 2017
(3) 2011 (4) 2015

(5) Question not attempted

32. The following*information contains activity and

its cost driver. Which option is not correctly
matched?

(1) Production  scheduling - Number of

production runs
(2) Inspection — Machine hours
(3) Goods receiving — Goods received orders
(4) Dispatching — Number of dispatch orders
(5) Question not attempted

33. What will be sales in rupees for desired profit
fixed cost is T 30,000, desired profit is € 15,000

and P/V ratio is 30%?7
(1) T 100000
(3) T 200000
(5) Question not attempted

(2) T 150000

34. Right shares mean the shares which are -

(1) Issued to promoters for their service

(2) Issued to holders of convertible debentures

(3) Issued to directors of the company
(4) Offered to existing shareholders
{5) Question not attempted

35. Out of these, which is not an objective of
Management Accounting?
(1) To help in policy formation
(2) To help in decision making
(3) To provide latest information about the
business
(4) To find profit/loss of the business
(5) Question not attempted

(4) None of the above

-I'H" -

I

30. g gy, wafodl = doft + w1,

e e oY e &7

(1) SwgEETT W (2) g wra=h
(3) ge1 A WA (4) oRar st W)
(8) apiRa uE

- ARG # YAag HaEl & oI WRdE o

A& (Ind-AS) TEell 4 Ha o1 fde T
e

(1) 2010 (2) 2017

(3) 2011 (4) 2015

() s we

Frefaftae e wfofaf sin swer e
ared fear war & e v Wl g 9
wfera =8t 27

(1) Seure &9 FEivor — SemEe g o S
(2) frfremor — #efts ue

(3) |1 W HT — Hied it & anay

(4) Tgo7 HIAT — THOT TSI Pl HEAl

(5) areiive wes

afz fem @@ 30000 T, sfea am
15,000 T =11 sivreT Sua 30% €1, ol R
@1 uf¥y @ 2P

(1) 100000 T (2) 150000 F

(3) 200000 T (4) Tudia ® § $1E
el

(5) argefRa we

. FfYER Tt 1 I I AN G BT’ —

(1) 51 gade &1 a4 wai © fow Fifia
e W &
lilgﬁaﬁ:fmmmaﬂaﬁﬁﬁﬁﬁmm
(3) Fwll & Haradi &1 Fii e o €
(4) o1 gdum simanfYal F1 uwenag @ o #

(5) gl W

fA=fafas # 9 S99 ya9 S@iwe &1 Uh

stvg wE &7

(1) Hfey fAmtor 3 wers

(2) Fotas % wErgar d¥e

(3) 2wy & AR H e WEan Sucer
P

(4) R H @AM /B T Al

(5) s we
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36. According to the ‘Bird-in-the-hand’ theory,
investor prefers -
(1) No dividend payouts
(2) Lower dividends over potential future
capital gains
(3) Higher dividends over potential future
capital gains
(4) Equal distribution of dividends and capital
gains
(5) Question not attempted
37. As per Section 17 of Banking Regulation Act,

every bank has to transfer............... of profit to
statutory reserve fund account.

M 20% (2) 25%

(3) 30% (4) No transfer required

(5) Question not attempted

38. What is the accounting treatment for the
issuance of Bonus Share?
(1) Transfer from share premium to share
capital
(2) Transfer from retained earnings to capital
reserve
(3) Transfer from reserves to share premium
(#) Transfer from share capital to retained
carmings
(5) Question not attempted
39. Which of the following transactions is NOT
showing flow of funds?
(1) Sale of fixed asset
(2) Fixed asset purchased by issue of shares
(3) Credit purchase of fixed asset
(4) Purchase of fixed asset
(5) Question not attempted
40. Which of the transaction will not be regarded as
cash flow?
(1) Redemption of Preference Share
(2) Issue of Equity Share
(3) Cash deposited in Bank Account
(4) Sale of Plant and Machinery
(5) Question not attempted
41. While selecting optimum product mix, decision
would be taken on the basis of -
(1) available machine capacity
(2} Break-Even Point
(3) highest contribution per unit of key factor
(4) lowest contribution per unit of key factor
(5) Question not attempted

3. Fe-—gi=-ts Rigia & IR Fave owe
&l & —
(1) ®1g @ IO T8
(2) wifaa @i & Yofia @ v &9 o
ta}wfaaqﬁma'"{aﬁrmammaﬁ

H}ammﬁ?ﬁsrfﬂmmaﬂmﬁﬁﬁw
: (8) argEie W
37. A R affem 1 aw 178 sFEr,
UA® 4 DI A P et waa
Bifey @y 3 wriaRa sen g 2

(1) 20% (2) 25%
(3) 30% () fefy e @

STl

(8) araRa we

38. g o Wl &R & fo eraiee aEER
8?7
(1) 3w @iftees & sie ot # e
(2) ufeenfRa amar & it wau 3 s
(3) w7 A aiw DA # wEiER
(@) siwr foh 9 wfeenfa amy # werimeor

(5) s we

Bﬁﬁﬁrﬁlﬁﬁﬂﬁﬂﬁqﬂﬂﬂﬂ?m%mﬁ
w&l waf¥a wv war 87
(1) wrht wufy &1 RAma
(2) 3= & frias g/ wr) sulss &1 &0
(3) wrf) wWufey &1 SuN &9
(4) vyt wufey &1 w9

(5) sl W

0. HIF oiFIeT B AFET AR T AFET ST
(1) &ferr afei @1 o
(2) wrern st &1 fefaa
(3) & warey § THE S
(4) W= gd #sfe &1 fAwa
(5) aiRa uvs

. yepETw Swe By $1 a9 v e
Fola B & smam o s —

ASLE () S w9 e

(2 w9-famag famg
(3) W@ wE 1 9 TEE IR IS
(4) v HRE 1w geE s semm
(8) iRy

39.@
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42. Match the applications with its correct
Accounting Principles -
List-1

(A) Making provision for doubtful debts

(B) Classification of assets as current assets and
fixed assets

(C) Accounting of a small calculator as an
expense, not an asset

(D) Appending notes to the financial statement

List-11

(1) Prudence Principle

(ii) Materiality Principle

(i1i) Full Disclosure Principle

(iv) Going Concern Principle

Code -

(1 (A)-Giv), (B)-(1), (C)-(ii), (D)-(iii)

(2) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)

(3) (A)-it), (B)-(i), (C)-(iv}), (D)-(ii)

(4) (A)-(1), (B)-(iv), (C)-(ii), (D)-(iii)

(5) Question not attempted

43. In Voyage Accounts, what is bunker cost?

(1) Charges paid to port authorities

(2) Brokerage for Agents

(3) Amount spent on fuel, coal, diesel and fresh
water

(4) Additional amount paid to ships’ captain

(5) Question not attempted

44. As per Indian Companies Act, 2013, one person
company means -
(1) A company which has only one person as a

member

(2) A company which is formed by one person
(3) An unlimited company
(4) All of the above
(5) Question not attempted

45. Which of the following is a typical measure in
the “financial perspective” of the balance
scorecard?
(1) Customer complaints
(2) Manufacturing efficiency
(3) Economic value added
(4) Employee turnover rate
(5) Question not attempted

=

42. yryE B IS wE e Rigral @
oy e HY —

-1
(A) wifemr o & forn urEms &
(B) Wufemt &1 are] wafert sy werdt wuferaf
L # gt
= (C) U BT dedheiey BT oEim WUy B
- WY A 781, afew @ & w9 F B
(D) foefrg faawort & Srew we

11

(i) wiearfam fagma
(ii) AETagetaT fagTa
(iii) qoi weacTa Rigia
(iv) o @mw frg
az:i: a—
(1) (A)-(iv), (B)-(i), (C)-(ii), (D)-(iii)
(2) (A)-(i), (B)-(ii), (C)-(iii). (D)-(iv)
(3) (A)-(iii), (B)-(i), (C)-(iv), (D)-(ii)
(4) (A)-(1), (B)-(iv). (C)-(i1), (D)-(iii)
(5) areRE we

43. gt (SierarEn) @l A, 9y anrd 1 gl
27
(1) 9ré st ®1 g@e T am

Eﬁ%(ﬂqﬁeaﬁmﬁl
2 (3) FF, digen, Soe, gE U O 2 9

LERE

(4) FEr & dHed B goE T3 Afofvad
(5) arpaRa weA

4. g B ARFEE, 2013, B HFTER 9B
@fd FWE FT a6 & —
(1) vs wwr) Rires 9w @ae s afed &
(2) U FE Wl U Afd g g g
(3) us st Fe
(4) Fuvra w1

(5) argaRe ueA

45. faefafad 4 9 S 408 TRee
"faxig gftve # ue fafire A 27

24 = (1) 31mea Rrorerd
e I (2) fafmior serem

(3) sl Heu waele
(4) wHard amad &3

(5) aFRa ueA

39.@
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46. Match the items in List-T with List-IT as shown
under their respective categories -

46. -1 &1 #al B g1 & W Ry, S
& g9 wafte At & wea fRar S

List-1 List-11 o
(A) Unpaid Dividends (1) Inventories i | - 11
(B) Computer Software (i) Contingent (A) 7 gebTT T e (i) e
Liability B) #¥e¥ WITeday i) s
(C) Work-in-Progress (i) Intangible Assets v o e
(D) Guarantees Liabilities (iv) Other Current (©) are, — (i) ""‘Tf it

Code - B =
(1) (A)-(ii), (B)-(iv). (C)-(i), (D)-(iii) )
tL-I -l' @ i

@ (A)-(iv), B)-(iii), (C)-(i), (D)-{i) (1) (A)-(id), (B)-(iv), (C)-(i), (D)-iii)
(3) (A)-(ii), (B)-(iii), (C)-(1), (D)(iv) () (A)-(iv), (B)-(iii), (C)-(i), (D)-(ii)
(@) (A)-(i), (B)-(ii), (C)-(iv), (D)-iii) :i; (AX(i), fﬂ“‘—"?f“]- (©)-i), (D)iv)
(5) QUES{iﬂﬂ not ﬂ“ﬁ'mptﬂd {5} {ahﬂﬁﬁa}_uj‘ {H;:}"L {C}-{Ivll {D}'{lﬂ}
47. g vefy & s, ForaEt w A

(iv) 31 =i,

47. Under Double Account System, interest on

Debentures is shown in -
(1) Net Revenue (2) Capital Account

feraran wirem & —

Account Mg Wy @ 4 (2 9o @ 8§
(3) Revenue Account  (4) Replacement (3) Y&y @ # (4) greaiue ward
Account
(5) Question not attempted (8) argeia oo
48. Work-in-Progress control a/c Dr. 48. Work-in-Progress control a/c Dr.

T;;Tactury overhead control a/c
State, under ‘integrated accounting system’, TP WO’ @ ferfe, SuRiem o7l
5 wfafte @1 waffa wwd 8 aaey?

what is the above journal entry is showing? . :
(1) Factory overheads charged to production [-"ﬂ.&:':i " WHEE[ T SuRer 31 Sere W urd R

(2) Factory overhead under — absorbed

To Fuctory overhead control alc

(3) WIP production charged to factory
overheads

(4) Factory overhead over — absorbed

(3) Question not attempted

" (2) PG SuRaR T — aEEiie fed

(3) =g, B BT HREE Sullerd ) g
farar
(4) wrErF Sulea sf — seofle fFa

() srgeiRa wee

49. A company made an issue of 10,000 equity - Uh HHT A 10T HST B 10,000 FHaT 3¢ )
shares of T 10 each, payable as T3 on f5d, o Ides uv 3 Taged w4 T 9
application; ¥ 4 on allotment and balance on call. . ;

43,525 shares were applied, out of these mm W ?]-%43'525 Fﬂl’l‘ i ferg mg
applicants of 11,525 shares received 5600 equity A &, _W 11,525 GTETT a@uéaaiil
shares and applicants of 32,000 shares received 5,600 FHAT 39 T2 32,000 39T B AATH B
4400 equity shares as pro-rata allotment. . 4,400 HHET ¥ TS srEed & w9 H e
i e i bud b el (ovards g1 e v S e 4
be refunded? forar wrar | arow Y wF ared ¥ el &
(1) T 70,000 (2) T 52,000 (1) 70,0002 (2) 52,000F
(3) 30,575 (4) ¥ 65,200 x (3 30,575 (4) 65,200
(5) Question not attempted 'Pt" (5) argeilRer west
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50. Purchase of equipment’s for cash -
(1) increases total assets
(2) keeps total assets unchanged
(3) increases current assets
(4) decreases total assets
(5) Question not attempted

5T. An item can be purchased for T 100 per unit.
The ordering cost is T 200 and the inventory
carrying cost is 10% of the item cost per
annum. If the annual demand is 4000 units, the
economic order quantity is -
(1) 100 units (2) 500 units
(3) 200 units (4) 400 units
(5) Question not attempted

52. The following information has been given -
e Expenses paid in cash ¥ 1600
» Expenses prepaid in the previous year relating

to the current year ¥ 200
e Expenses outstanding for the last year, paid in
the current year T 100

* Expenses prepaid in the current year T 480
* Expenses capitalized T 400
The amount of expenses to be debited to the
Income and Expenditure account is -
(1) T680 (2) T 820
(3) T200 (4) T620

(5) Question not attempted

53. The clientele effect suggests that dividend
policy is influenced by -
(1) The regulatory requirements set by the
government
(2) The company’s profitability and revenue
generation
(3) The preferences and tax status of the
company’s investors
(4) The company’s industry and markel trends
(5) Question not attempted
54. Interest on debenture is calculated at a fixed
- N of debentures.
(1) on the face value
(2) at issued value
(3) based on net value of company
(4) value determined by the Board of Directors
according to situation
(5) Question not attempted

50. JugRvii & THG HA D FN —
(1) g waferi ¥ gfy B &
(2) mer Tl A 1§ gRac 81 g 2|
(3) =T waRrl # gf Bl 2|
(4) e geferdt # w0 2xl 2
(5) sreiive W :
51. s awg 1003 wfty g8 # @ o g
£ ey 29 Y o 200 SR g
| SR @ 9% H AR @1 10% 9t 8|
" e anfife st 4000 d@Teat @, o anfdie
o e " Y —

1) 100 Higar (2) 500 gt
(3) 200 gHTEAl (4) 400 ST
(8) arpaita ueA

52. oy W & E € -

e @i F AHe AE fhal T 16003
o o1 o & waka Red af § gdew am

2003
o fwer af &7 awm 2w, e 99 § 4T
faar mar 1003
o Tre] 99 § ydad =Y 480F
* oy 400
ama v o @ A e # 9 e @y
o ufd 8 -
(1) 680 T (2 820
e d® 2003 @ 6203
2415) argeiel e

P CIC] oar &, & s iy
wf&a%‘tﬁ’l?-ﬁ
(1) wweRr gR1 fPuiRa Fame sravasast 9
(2) Frelt ) AEEG AR I gord |
3) T @ PRTET 3 TuEwan ik &
fafy |
(8) el @1 SE 3N AR @ wEE 9

(6) srgelRa weA

54. Sporgs TN T B AU HOGH D o
.. T ¥ e w & o 2
(1) siféha qou W
(2) Frifaa 909 =
(3) T & Yg o9 B IER W

..:‘thﬂqﬁﬁeiﬁ-'iﬂ?aﬁ?ﬁwmﬁm
) o
1 -

o fauifta 570 ®
- () s/ weA

9.@
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55. A list of industries are given below - 55. geivii @t vo | e E & -

(A) Toy manufacturing industry (A) Raefn fFmtor =i

(B) Transport industry (B) ufmes e

(C) Water supply services (C) wTat amgfet Hard

(D) Road construction industry (D) ws® Fmivr e

Operating costing is applicable to - ufErer e fFeior B @ e 8 -
(1) Only (C) (2) (A) and (D) (1) @aet (C) W (2) (A) 3R (D) U=

(3) (B) and (C) (4) All of the above (3) (B) 3T (O) 9% (4) TR W W
(5) Question not attempted Lk (5) aeRa we

56. Use of borrowed funds in expectation of highe - HHAT FIEIRE] B A0S Ul & g #
return to equity-holders, such practice is called - S off T GRIR BT SuErT H, Y e
(1) Operating Leverage (2) Investment Decision ?:]E‘f-’ﬂiﬁﬁ 8= I" (2) Rfrainr frofg
(3) Capital Trading  (4) Trading on Equity @) o T 2R P S
(5) Question not attempted (5) srreRa we

57. Mr. A returned goods to XYZ Company. Now  57. &} ‘&' XYZ &wll & #1e 99w &xal & 3"
which document is to be sent by the company to G e e B M s 1 (6 B
Mr. A? AT B !
(1) An Invoice (2) A Debit Note ) v frors (2) v e A
(3) A Credit Note (4) None @) vF Bfee A @) B3 T8
(5) Question not attempted (5) sraRe wE

58. Under net asset method of valuation of share, 58. 31 & Weuiew #) gE wRy R & s,
value of a share depends on - Y F1 e R v # -
(1) net assets available to equity shareholders | ; (1) war st @ o Sueer ge Rt
(2) net assets available to equity shareholders s (2) | stvRRET 3R FoaEaRE! @ far

and debenture holders el g R

(3) net assets available to debenture holders @) RS B Ry SueE wg waRE
(4) None inf the above @) S § § P T8
(5) Question not attempted (8) SR we

99. In deciding acceptable financing strategy for 59. e qoit & fore Wer R ot
working capital, management is confronted T WY H, GEEE B HHAT ST g8 & —
with - (1) AeFTElT FUR v FeuHEE SUR $ 99
(1) a trade-off between long-term borrowing T

and short-term borrowing

(2) a trade-off between risk and profitability (2) wiifEm ofi snEEeT ® 99 aenda
(3) a trade-off between equity and debt (3) e 3 For @ A" arentE
4 p .
(4) :lﬁ?:;:ifriwun production cycle and i s vk e s 8 R
(5) Question not attempted E%.f (8) sriRa weA
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60. Additional guidance given in Ind-AS over and 60.
above what is given in IFRS are called -
(1) Carve-out (2) Carve-in
(3) Carve clarifications (4) All of the above
(5) Question not attempted
61. [FRS are considered as a “........cccccevuuec "setof 61
E =
Standards, =
(1) “principles —based™ (2) “rules-based” =12
(3) “1arget-based™ (4) “applied-based”
(5) Question not attempted
62.

62. The current ratio of a company is 2:1, Which of

the following transaction(s) would reduce the

ratio?

{A) Sale machine for cash
(B) Pay a current liability
(C) Issue of bonus share

Select the correct answer using the code given

below -
(1) (A), (B)and (C)  (2) (B) and (C)

(3) Only (A) (4) None of the above

(5) Question not attempted

63. Which of the following errors are not affecting

the Trial Balance?

(1) Purchase Book carried forward ¥ 100 less. ¢
(2) Paid wages T 480 for the construction of a e

room credited to wages account.

Ral:

(3) Purchase return book for March 2023 was

undercast by ¥ 35.
(4) None of the above
(5) Question not attempted

64. ABC company Ltd. offers one share for every 64.

four equity sharse held to its shareholders. The
issue price of share is T 120 and the market
price is T 200 per share. The value of right will

be -
M6 (2) T 200
(3 T20 @ T120

(5) Question not attempted

hr

=
W |

=1n

IFRS # &1 wv o & sremar s

F2 £ e T e M o e 1

FHET W —

(1) A1l afesR (2) Sawreh 59
(@rd—amae) (%)

(3) el (@) (4) S\l
T

() arqeifta weA

w9 H /AT W # |

(1) “Rrgim — smnfRa” () “Frm — smafa”
(3) e — amRa” (4) "Erp — MR
(5) argeia we

Td HAA B A I 2:1 8| Frefaiea §
W P/ BN AAER SR H B HA?
(A) 799 ®T VFE 99 9

(B) =7ey, S1fied gar o

(C) A= et @ s 9

e Ry v Fe F ST WS WEl o
T -

(1) (A), (B) 3R (C)  (2) (B) 3R (C)

(3) Fad (A) (4) Surad % 9§ 1

el
(5) araRa e

63. frerfarfea # & W Al e B

wifaa S8 Hvel 87

(1) 7 98 & 100 T % M 4e] M|

(2) v& wR fAmior 2q 480 T &1 YA fa
wa, ot wwge) @ | o faan |

(3) wrdt 2023 % forg wa D @@ 35T 9
A (Sst@ne) €|

(4) Sudiat # 9 $Ig T

(5) srgeiRer W

e e fafies s sERS! & udls

R wAa s @& o o oy gearfaa s

21| gim &1 b e 12038 e a9k qe

200% wfey afer 8 | AWHR H q BT —

(1163 (2) 200%
3202 (4) 120%
(5) IrilRE weA

39.-@
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B5. XYZ Ltd. has to redeem preference shares of
¥2,75,000 for which the company has issued
8,000 equity shares of T 10 each at a premium of
10%.

The amount transferred to Capital Redemption
Reserve (CRR) a/c is -

65. XYZ faiftres &1 2.75,000F & afmr siwt &1

e He @ s e st 9 10% Wit
o 10T & 8,000 wHaT v fFrifhe fad

Tl v e @ § eviaita 3 5 aen
& —

M (1) 195000F (2) 88,000 %
(1) %1,95,000 (2) ¥ 88,000 W2 (3) 1,87.0002 (4) 2,75,000
(3) T 1,87,000 (4) T 2.75,000 (5)
i Elfﬁ‘lﬁﬁ o9
(5) Question not attempted TR
66. According to Section 53 of the Companies Act, 6. Fwrft sffas, 2013, 3 aRT 53 3 IR,
2013, a company cannot issue shares at a BIE M A dee W 3y Prife 98 e
discount, except in the case of - wad!, e =8 9w & —
(1) issue of sweat equity shares (1) we guar 397 &7 ffas
(2) issue of right shares (2) sifre 3l &1 e
(3) issue of bonus shares (%) Ar aisit 3 Py
(4) reissue of share @) sigi
' DI ﬂqg"“!"lﬁ
() Question not attempted (5) st e
87. The following journal entry appears in the 67. odil forfice 9 qeael # PreafaRea o

books of ABC Ltd. — ufafte wefdfa exh & -
Bank a/c Dr. Bank a/c Dr.

4,350,000 Tt 4.50,000
Loss on issue of debenture a/c Dr. .,{-"'1'.:: Loss on issue of debenture a/c Dr.

75,000 =1r 75.000
To 12% Debenture a/c E To 12% Debenture a/c

5.00,000 5,00,000

To Premium on redemption of debenture a/c
25,000
12% Debentures have been issued at a discount

rate of -
(1) 15% (2) 10%
(3) 5% (4) No discount is given

(5) Question not attempted

68. Which of the following error is not revealed by 8.

the Trial Balance?

(1) Compensating error

(2) Treating an expense as an asset

(3) Posting an amount on the correct side but in E
the wrong account

(4) All of the above

(5) Question not attempted

To Premium on redemption of debenture a/c
25,000

12% o193 fFa 92 o w ol sl M
W

(1) 15% (2) 10%

(3) 5% (4) @18 azer & fam
mqr

(8) sreile wsA

=1 4 & P gl aome gwr welfa A

Brfi?

(1) siftrgze arapfs

(2) v& @ &1 g7 & w9 4 =waew e

(3) v& wf¥r &1 Wel ver H uve o @
AT T

(4) SuvtaT w

(5) siRe e

9.
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69. Which statement is TRUE? 69. T HUA e 87
(1) Prudence is a concept to recognise (1) wieafzar smrg o &1 gEaEA B
unrealised profits, not losses. g & 7 6 sl @)
(2) Capital + Long-term Liabilities = Fixed (2) ot + dreimrena a1 = endy Jui
Assets + Current Assets + Cash — Current + T, WuEl + Fde — =g, J1
jabilities (3) wmTTe: Sifer Are &1 i AT Al
(3) %‘gmﬂm normally valued at cost AR W, Al H A W e 8, 0R e
o ‘et price, whichever is higher. Ein
(4) Patent right is in the nature of Real Account. (4) gohvg Sif TS @A B APl @
(5) Question not attempted 8| .
() argeiie we
70. Which of the following Profits and Reserves, 70. Pr=ifafiaa d 9 S99, amg @ g &
are not available for distribution of dividend - R averEr 4 B9 T @ of e # —
(A) Capital Redemption Reserve (A) Bl Tt e
(B) Premium on Issue of Share (B) ater Pt wr diftyam
(C) Profit on Revaluation of Assets and (C) Huferil v afret & gdeiea W A
Ei:bm““ g ap- 1 (M) (A) 3R (©) 2) (A) 31 (B)
A)and (C A)a
(3) :B:an-d :C: (4) EA; {B]';n.:i (C) B i) Wi
' (5) arafte wes
(5) sgsijon not attempled
7. Tot “margin variance is calculated as - 7. Fa faah i e & T 39 TeR B
(1) Actual Profit — Budgeted Profit W ® -
(2) Actual value of sales — Budgeted value of (1) aefas am — Forer a9
sales (2) fapt &1 awafas goa — ) &1 Twc
(3) Standard Sale — Actual Sale k Gl :
(4) Actual unit sold (Actual selling price - GHIERE et = i (4 !
(#) arfacs a7 gHE (anafdes R e
Standard selling price) — g A 5e)
(8) Question not attempted (5) sreifa uw
72. As per Companies Act, 2013, a company can 72. ma siftfEm, 2013, § FTER, UH S
buyback of its shares out of its - ? arell @1 gy, S A feed wv wed
(1) Free Reserves (1) s e
(2) Security Premium () ajor ifirs
(3 { received from issue of shares (3) aief & Fytas & ure afdn
() All of the above (4) Ut |+
(5) Question not attempied (8) arfeiRe oo
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S S i —

ey A

73. Trial Balance of Mr. A as on 31 March, 2024  73. 3] #pd, 2024 &1 #! A &1 owe. Fr=fafm

contains the following information — FoAd yefda Fvar § -
Bad Debts - T 3,000 gad =T — 3.000%
Discount Allowed - T 3,000 aeer faar — 3.000%
Provision for Discount on Debtors caaqe 1-4-2023 H1 2AERl W dce
on 1-4-2023 R3.200 [5 a graor _ 32002
Provision for Doubtful Debis K 140023 @Y | o @
on 1-4-2023 -¥3,500 foro sl — 3500%
Sundry Debtors - T 50,000 R TTER — 50,000 2
At the end of the year, it is desired to maintain a a6 B i 4 ol B BT 4,000 T FT W
provision for debts at T 4,000 and provision for B ae “ 20003 T PN WA T
i S A e 3T Mo . S A R 3t . 2024
afigue of- B/S ¥ frw wiffr v femamy wmga?
(1) T 44,000 (2) 238,000 Mk aH00x CISH000 A
(3) 7 32,300 (4) % 44.700 (3) 32.300F (4) 44,700 T
(5) Question not attempted 8) argefa W
74. Calculate goodwill at 2 year's purchase of actual 74 fiwal 3 auf & awafa® awa @ @ 2 qul &
average profits of past 3 years. Profit for the past e w wfa #R T &Y | Ao 4 99 @
4 years are as follows — A 59 UFR & —
2020 - T1,20000 (undervaluation of closin S s 2020 - 1,20,000 Z (sifdm wid &1 30,000 TH
:imck by T 30,000) E:L‘t w9 o g3l €)
2021 - 1,50.000 2021 - 1,50,000%
2022 - T 90,000 (Loss) 2022 — 90,000 7 (ETI:""'f}
2023 - 2 2.70,000 2033 — 2.70.000%
(1) T 2,00,000 (2) T2,50,000 (1) 2.00.0007 12) 2.50,000 2
(%)X 1,50,000 ) %2.20,000 (3) 1,50,0002 4 2,20,0003
(5) Question not attempted (8) argeife we
75. Baich Costing is a type of - 75. wE ora R uE wer 2
] : ] (1) weuel STE SRaie (2) SusEl ST
(1) Direct costing (2) Job costing o S
(3) Differential costing (4) Process costing (3) sErHE AT (8) uftsar @rTa
@i B GBI
(5) Question not attempted (5) srepeiiea we
76. Main function of Management Accounting isto 76+ W@l @@+ $1 YW B Ya B HEwAdl
help management in - T B —
(1) Preparation of Final Accounts UL () afew wme AR a5 i
(2) Decision Making E‘i.{ﬂ; (2) Frofar @v ¥
(3) Filing Tax Returns (3) Fz fAawoft 9w §
(4) Raising Finance @) fag o we
(5) Question not attempted (5) srpaRa ue
39.@ Page 17 of 32




77. If the current ratio is 2.5 : 1, liquid ratio is 1.5:1
and working capital is ¥ 60000, calculate
current assets and current liabilities -

(1) Current assets ¥ 84000 and current liabilities
T 24000

(2) Current assets T 100000 and current
liabilities T 40000

(3) Current assets T 120000 and current
liabilities ¥ 60000

* (4) Current assets T 40000 and current liabilities

T 100000

(5) Question not attempted

78. In case of life insurance company, which
account/statement is prepared to ascertain
profit?

(1) General Balance Sheet
(2) Profit and Loss Account
(3) Valuation Balance Sheet
(4) Revenue Account

(5) Question not attempied

79. An order was received from a customer on 20
April, 2023. The goods were manufactured as
per the order on 15 May, 2023, delivery of these
goods were made on | June, 2023 and the
payment was received on 27 June, 2023,
According to the Accounting Standard (AS)-9,
the revenue from this sale would be recognised
on-

(1) 27 June, 2023 | (2) 20 April, 2023
(3) 1 June, 2023 (4) 15 May. 2023
(5) Question not attempted

80. Under the Walter's Model of dividend, what
should be the optimum dividend pay-out ratio,
when r= 15% and Ke = 12%?

(1) 100% (2) 50%
(3) Zero (4) None of the above

(5) Question not attempted

B1. In which method of Inflation Accounting,
general price index is used for price level
changes?

(1) Current Cost Accounting Method (CCA)
(2) Net Realisable Value Method (NRV)
(3) Current Purchasing Power Method (CPP)
(4) Historical Cost Method (HC)

(5) Question not attempted

7. 72 =6 aFUIT 2.5: 1, 796 S 1.5 : ]
aun g dRMA Gl 60000 B, A A

wferd] aur wre gl o) v i —
(1) =meg, wwafRvn 84000 T @i =re, S1fe
24000 T
(2) =], wafern 100000 wen iy gy
I 400007
A(3) =reg iRl 120000 g g 3l
60000 T
(4) =re], ARl 40000 e Gre @i
100000 2 ,
(5) ¥saifa wea
78. S A wel @1 Rufy % @ gPlea
w @ fog S @/ fave dar B
o 87
(1) wrr= fRerfey faamor
(2) & ug =iy =
(3) g fRefey fawor
(4) 3T =
(5) argeriea we
78. 20 ilied, 2023 1 U UES W TH AR Ww
g1 | e @ fmfor 15 98, 2023 @ andw @
SR B ) 5% e @ gy 1 9,
023 1 ®1 7E 3w 27 5, 2023 B SHHT

L)
@Tmﬁmgm[mmw—w%agﬂﬂ.

59 @8 I e Yo F usE 9w —
(1) 27 57, 2023 (2) 20 ==, 2023
(3) 1 57, 2023 (4) 1578, 2023
(5) arpeiive wes

80. T % dieey Aisd & siaiia S
r=15% 3N Ke=12% &7

(1) 100% (2) 50%

(3) 3= (8) ToRYFT W @ B
Tl

(8) et e

8. geraifa cr@iss o e gl § o0 ww ¥
uRady & forn wme geu HEHis & SuanT
faan wmen #2

'ﬂi’.“ﬂlgﬂﬁﬁéﬁﬁhﬁﬂﬂﬁfﬁ
{3) ariae wa wifaa faf
(8) vftrerfies s Bl
(5) argeife wee

E-u....{ﬂilﬂﬂm GINGREECIGEREIE )
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B2. A non-banking asset is -
(1) Furniture and fixtures of bank
(2) Money at call on short notice
(3) Any asset acquired from the debtors in
satisfaction of claim
(4) An item of office equipment of bank
(S) Question not attempted

83. A company adopted following methods for its
internal reconstruction -
{A) Issue of new shares
(B) Consolidation of shares
(C) Sub-division of shares
In which of the above cases, there is no
reduction in share capital?
(1) (A) and (B) (2) Only (C)
(3) (A), (B)and (C) () (B) and (C)
(5) Question not attempted

B84. Which of the following is not included under
the ‘Reserve and Surplus’ head of a company’s
B/S?
(1) Insurance Fund
(3) Share Option

{2) Providend Fund
(4) Revaluation

Outstanding Reserve
Account
(5) Question not attempted
85. Cost of licence is shown in........., under Double

Account System.
(1) Net Revenue Account
(2) Revenue Account
(3) Statement of Receipts and Expenditure on
Capital Account
(4) General Balance Sheet
(5) Question not attempted
86. The Voyage Account is closed at the end of
the -
(1) Accounting Period
(2) Financial Period
(3) Voyage
(4) None of the above
(5) Question not attempted
87. Bank Reconciliation Statement is -

(1) Part of Cash Book (2) Part of the Journal
(3) Ledger Account
(5) Question not attempted

(4) Separate Statement

82. ts Tr—dfer uRwufy & —
(1) &% & wAreN U4 fhavey
(2) areq ¥ HET T €
mﬁﬁ{aﬁﬁg&ﬁﬁﬁﬂmaﬂ#
(4) ¥ & Hrafay IuHTT HB TH A
(8) srgiRa weA

83. U FEA 7 ae afaRe gAriamT & g
=1 o g —
(A) =31 a9 w1 et

EJ'"}-I (B) 391 &1 \HEHA

(C) &9 &1 Iu—farer
SuRiae ¥ W fa Rufy § o Ioht o #iE
AT T8 25 87
(1) (A) R (B) (2) @ad (C)
(3 (A), (B)aR(C) (9 (B)afiR(C)
(8) argefRa e

84. Preifarfaa o @ s e e @ @ Refa
e & wuy vd anfgr oids @ sirfa

it 18l &7

(1) d [l (2) afsy AR

(3) s RAFea a@mar  (4) gD =9l
Hidl

(5) argeifter we

85. fEwmar yomel #, ey @ @ H
. Fea sl £
E‘?..is (1) & ¥ Ew
(2) Y=g @
(3) it =it R Wit vg @ @ v
(4) w2

() arfeiier wes

86. = el g v W & —
(1) Srmim= aafy & aia #
(2) =i 3 & sim &

(3 g & a3 H
(4) Suad 3 | &g o T
(5) arqalRe weA

87. & woamen faawor g & —
(1) Ims 7 & B (2) sy (See) @1
fBwm
(3) wremEd! &1 @ (4) 3T ¥ U fAawe

= EE!
e b (5) sl wee

39.-@
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88. IFRS-9 is related with -

1.

(1) Share Based Payment
(2) Business Combination
(3) Financial Instruments
(4) Operating Segments
(5) Question not attempted

- Economic Value Added (EVA) is calculated

as -

(1) Net profit before tax — Capital employed

(2) Operating profits after tax — Total cost of
capital

(3) Net profit after tax + Capital employed

(4) Total assets — Outside liabilities

(5) Question not attempted

Out of these, which cannot be used for dividend
distribution?

(1) General Reserve

(2) Employee Compensation fund

(3) Insurance fund

(4) Profit prior to incorporation

(5) Question not attempted

Call or Put option must be there for convertible
debentures after -

(1) 12 Months (2) 18 Months

(3) 24 Months (4) 36 Months

(5) Question not attempted

92. Which of the statement is not true regarding

batch costing?

(1) Direct Material, Direct Labour, Direct
Expenses, which can be identified with the
Batch, are recorded on the Batch cost card.

(2) Economic Batch Quantity means minimum
quantity in a batch at which cost per unit is
optimum.

(3) Batch costing is a variation of job costing.

(4) In toy manufacturing, Batch costing is used.

(5) Question not attempted

- A, B and C are partners sharing profits in the

ratio of 3:3:1, C retired. The new profit sharing
ratio between A and B will be -

M3:1 (2 3:2

@ 1:1 (@ 2:1

(5) Question not attempted

E—"E

91.

=
E,:: :

o
[

TS Uh.AR.UH.- 9 ey s grem 27

(1) 37%r amenRe e

(2) amaaTfae Hare=

(3) g we

(4) uR=rem @ve

(5) areier W

;ﬂﬁi‘ﬁwmﬂEm}aﬁmaﬁﬁnﬁr

M) #= ¢d ge an - R &

(2 &% & a5 yRareF o — Tl ot o
SIUGH

(@) T @ a= g o™ + g Toh

(4) =1 wuferar — amer S

(8) sl v

Fremifda % 9 feaer yar @y dear 4

et far o HHar 87

(1) = H=g

(2) T ARl e

(3) 9 e

(4) wHHeE | g & A

(8) st we

uRad=a oAl & o @fe e ge

e faem we ae wEar 87

(1) 12 518 (2) 18 7is

(3) 24 58 (4) 36 518

(5) srwiie wes

;@mﬁa‘;mﬁmmﬂmaﬁ

.

(1) weuer wred, wousr s, woaw =g, o
WHE & W UgHMAl O Wl €, 9% 6B
RTT H1E W gol faar e &

(2) anfife s W @1 ot @ ue e
em A fore w ol g anrd
e 8 |

ﬂlﬂﬁ_ﬁgﬁﬂﬁﬁﬁi‘.iﬂﬁ‘lﬂmﬁﬁﬁﬁ
w9 2

(8) Reirn fFaror % w9 o By &
IUATT BT |

(5) srgaiRe we
U, & 3R MW 3:3:1 B U H o wEn we
e AIsiER # | W dafige 8 wmar 2] v ek

@ & 9" F T am e aEuE B -
(M 3:1 (2)3:2

31:1 4 2:1

(8) argeiie W

39.
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95,

- When share of goodwill is brought in cash by

new partner, the method is known as -
(1) Premium Method

(2) Memorandum Revaluation Method
(3) Memorandum Method

(4) Revaluation Method

(5) Question not attempted

Which of the following account has a credit

balance?

(1) Return Inward

(3) Accrued
Commission

(5) Question not attempted

(2) Carriage Qutward
(4) Return Outward

« Which one of the following pairs is not

correctly matched?
(1) Loss on sale of plant : Operating activity

(2) Amortisation of patents : Operating activity

(3) Buyback of share : Investing activity
(4) Issue of Bonus share : Financing activity
(5) Question not attempted

- Maximum amount which may be paid to any
Director of the company to attend a meeting is -

(1) ¥ 50,000 per member per meeting
(2) T 2,00,000 per member per. meeting
(3) T 1.00,000 per member per meeting
(4) T 10,000 per member per meeting
(5) Question not attempted

- If standard hours for 100 units of output are

400@ T 2 per hour and actual hours taken are
380 @ ¥ 2.25 per hour, then the labour rate
variance is -

(1) T 125 (adverse) (2) T 25 (favourable)
(3) T 95 (adverse) (4) T 100 (adverse)
(5) Question not attempted

.................. is a project whose cash flows
are not affected by acceptance or rejection of
other projects.

(1) Low cost project

(2) Risk free project

(3) Mutually exclusive project

(4) Independent project

(5) Question not attempted

(5) srgeiiRe we
95. fr=rfaiftag # & ®FE @ & Bfec A B
=14

La (1) amas ) (2) TP TME—TE
(3) wifofa &g (8) S QT
(8) sgmlRa weA
H-?ﬁﬁfﬁm#ﬁaﬂwwmgﬂﬁaaﬂ
?

(1) wam & faw w & oRerem ok
(2) 9 &1 AerEs : uftEres ferarE
(3) it & gaEdy - faw Rl
(4) arrg et & feiwe i ol
(8) srgaa we
97. T @ UH TOTA® @, UH e H Iuier
B9 & foro afreaw offt & o wed & —
(1) 50,000 wfy wew ufr $feq
(2) 2,00,0002 Wiy T wfy AifeT
g o 100,000 fY T wfiy AT
S2a(4) 10,000 vy wew ufy #@ifET
[ﬁ:ﬁ‘fma@aﬁam
98. 7ify 100 $HTEAT & Seured @ foU WA w2
400@ 2% ufy ey & oir fow v arafas we
%an@z.zsz ufy wer & a1 sm o faewr

(M 125 (foes) (2 25T (3rTs)
(3) 95T (wferee) (4) 1002 (uftrEs)
(8) Fgefe v

e, e Uit aReeEr @ Rrasr 9w

waTe g Rl ) Wely ar sl
¥ warfae =€ g &)
(1) = e afREsn
(2) shitam a1 afvdrsr
(3) geeE et aREE
;1 (8 W o

E&{Slﬁﬂﬁﬁm
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100. At the time of preparing Final Accounts, 100.weue & @y wefdfa asmr aorgr @ ifom

‘outstanding wages’ appearing outside the Trial A g way fRann smen —
Balance will be shown - (1) anmife @ e Refy favor (frgn) <=t
(1) in Trading Account & Balance Sheet both #H
(2) Only in Balance Sheet (2) Baer Refd a5
(3) Only in Trading Account (3) B9 TaRes @
(4) as fﬂﬂ?ﬂﬂlﬂ of Final Accounts (4) 3ifm @i & e @
(5) Question not attempted (5) SR e
101. Mr, A is a property dealer, having 6 office @Qa‘ v wet dew E oo g ae @
buildings worth ¥ 2 crores to sale. This amount 2 FE BY e @ B sfad qaq § |
will be shown as........in the Balance Sheet. m Refty fawer 4.3 wu § feard
:;: ’I;'ixed Assets (2) Current Liabilities (1) Tl Gy ) are e
urrent Assets (4) Investment :
(5) Question not attempted PiRTeY S 9 Ml
(5) argaifa wem
102. Following information is given of a company — 102 v @wplt @t fosy T g & -
® Equity Share Capital (25000 share @ T 10 ® HHAT 39 ol (25000 379 @ 10R yeir)
- each) ¥ 2,50,000 250,000 %
* Normal Rate of Return (NRR) 10% p.a. ® WA Uend 5¥ (NRR) 10% p.a.
* Last 3 years profit ® I 3aut & S
£ 50,000, T 60,000, T40.000 50,000, 60,000, 40,000F
The value of company's share on the basis of wfwer i R @ smr w w3
Yield Valuation Method will be - P Tkl Sl
(URS @z10 E-.ul‘jﬂ 8% (2 102
3) 720 @22 13) 202 @23
(5) Question not attempted (5) srgeiRe s
103. Long-term solvency is indicated by - 103. Seferelia wiememar & gwifar simar & —
(1) Net Profit Ratio (1) 91 & s g
(2) Current Ratio (2) =] 3T BT
(3) Operating Ratio (3) uRarer R g1
(4) Debt-Equity Ratio (4) Foor—aweT ST G
(5) Question not attempted (8) 3R e

m‘-;ﬂummpan:f issues 10% irredeemable preference  108.v% @&t 10% sreiuia wier swr @
shares. The face value per share is T 100, but the @t B 1 ufy sier sifed e 100 T B ueg
issue price is T105. What is the cost of gu@ Bl e 1052 2 gaifier siw Gl

preference share capital? & AT W B
2 1005% @ 10% (1) 10.5% (2) 10%
(3) 9.52% (4) None of the above (3) 9.52% (4) Iudtaa & 9 B
(5) Question not attempted - I8!

REE (6 arpeRa s
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105. The following statements are provided - 105. fp=iferfiae e R 8 & —

Statement I — According to the NI approach,
capital structure decision s
relevant to the valuation of the
firm.

Statement II — In the traditional approach @fi.,
capital structure, the cost

equity is independent of amo
of debt.
Select the correct option -

(1) Both Statements are false.

(2) Statement I is false but Statement I1 is true.
(3) Statement 1 is true but Statement 11 is false.
(4) Both Statements are true.

(5) Question not attempted

ar

_| appears in the books of accounts of transferee
company. This account is shown under which
head of Balance Sheet?

(1) Current Liability

(2) Reserves and Surplus as subtraction
(3) Miscellaneous expenditure

(4) Current Assets -

(5) Question not attempted

Tud 1 - U8 9™ fean & oEr, ol
W fofa o @ geaiea @ o
wTiE # |

sy 11— Toft wvemn & oRaRe gfiesm 4,
HHAT @ AT Fo B A |
werd B 8

W& fwe 1 gIE W —

(1) BT Foe e

(2) T | oT6eg & R P I 2 |

(3) Ty 1 W & o= WA [ ey €|

(@) T Fos W # |

(8) armiRa v

106. The ‘Amalgamation Adjustment Account’ 106. ‘¥HPieH wWHivA @iar &R AT 3

Wl # g ¥ fRam war &) ge @
fufy Rz & fra @ & siaeda R s
4

(1) =, a1

(2) wag vd anfoey # w2id & w9 A

(3) fAfae =™

(4) =me] wufe

= (5) srgala 9ed

107. What is the primary purpose of using ‘Block r 7. st @ g goggie e WafET (EDP)

Code’ technigue in Electronic Data Processing

(EDP) for accounting?

(1) To decode financial information

(2) To group and organize data into fixed-sized
blocks

# e BIS aPAE B IUANT HI B

weifae Stgg Far 87

(1) fasfrg s &1 fewre oo & fo

(2) 31 7 Ffma oeR & we J aafea @
aafiea HeEr

(3) To complicate the data entry process (3) o7 widfte i &1 Wl a7 & forg
(4) To ensure data is unorganised and randomly @) 7E Gfifea s b et sfda a1
stored :
: ygfees w9 | wuta &
(5) Question not attempted (®) srgRa v
108. Given - 108. fazy Ty 8 —
Operating Fixed Costs 720,000 gf¥ere ) ded 20,000
Sales % 1,00,000 ‘e fama 1,00,000%
P/V Ratio 40% [j"u-ﬁ AT ST 40%
The Operating Leverage is - uReres Idie 8 —
(1) 2.67 (2) 2.00 (1) 2.67 (2) 2.00
(3) 2.50 (4) 2.47 (3) 2.50 (4) 2.47
(5) Question not attempted (8) argaife W
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108. When sales and production (in units) are same,
then profit under Marginal costing is -
(1) higher than that of absorption costing
(2) lower than that of absorption costing
(3) equal to that of absorption costing
(4) None of the above
(5) Question not attempted

110. A project requires an outlay of T 50,000 and
yields annual cash inflow of ¥ 12,500 for 7
years. The payback period for the project is -
(1) 5 years (2) 4 years
(3) 7 years (4) 3.5 years
(5) Question not attempted

111. Under the Maximum Loss Method of piecemeal

distribution, the notional maximum loss is
divided in -
(1) Capital Ratio after making adjustment

g &

108. 37 fasnt afiv Ianes (Ewgal #) a9F 8 £
o Wi Jrra e & aeg am —
(1) spmemeor @vra fafy o qern § afds e
g
(2) sy @rrg fafr 1 qoen § &9 g 2
= (3) s wra AR & awaw g @
(4) SURTeRT § 9 @18 A8
(5) sreilE uw
M0. vz gfaiaer & faw 50,000 F & wraerwar

a1 & 3iY 7 981 & fore 12,500 T &1 aiffe
el yare ure g & | uRawrn @ e

QAT araet st 8 -

(1) 594 (2) 4 a9
(3) 794 (4) 3.5 94
(8) srefta e

M. 31 o9 v & sfemeoa 21 AR & safa

gﬁwﬁamﬁaﬁﬁaﬁﬁﬁmﬁﬁﬁmw
() wame & uygan Yoft sy &

(2) Equally among all partners (2) i |ERR 4 away
(3) Profit Sharing Ratio (3) @ s araa H
(4) Fixed Capital Ratio A (4) wITEY 3
(5) Question not attempted -?-lf (5) Bﬁﬁﬁg\m ;W

112. Calculate the amount of net income or loss, if

* the capital has been increased by T 1000 during
this accounting period. Drawing is ¥ 5000 and
fresh capital has been introduced in the business
of T 1000.
(1) T 6000 net loss (2) T 5000 net loss
(3) T 5000 net profit  (4) T 6000 net profit
(5) Question not attempied

113. According to Norton and Kaplan, the balanced
scorecard should be used as -
(1) A financial system
(2) A strategy management system

2- & I A w H Al @ aoE e af
T dWiE @ & SRE Yon § 10003 &
&8 €| 3NE 5000 & 3R @R # A3

1000 T wER 8 —
Meo00Tge e (2 50002 = =1f
(3 5000wz @ () 6000 X Y H

(5) eIl wet

M3. 9189 4 Fua= & AR, HWifer aie =

(FoTvs WRTE) 1 TET B 9y —
(1) & fa<ia omell & w9 #
(2) v o8 ITAIE U9 90Tl @ WY A

(3) A control system (3) ve Fg=v1 womel & w9 A
(4) A diagnostic system (4) v FEF woelt & w9 #
, (58) Question not attempted (5) argeifa we
114. What kind of action is cost control? Et"ﬁ'}‘ﬂﬁlﬁ Fa=w fra uor 9 FRlaEd) 22
(1) Corrective (2) Preventive At M GaNRHS (2) -
- (M Both ()& (2)  (4) None of the above @MW @ qﬁa I 5 0%
(5) Question not attempted (5) arafe we
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15, What is the maximum limit managerial
remuneration that can be paid by a Private

15, g yrgade fofes wwuht gmn qram fsan o
W Tl waar mRAfE B st

Limited Company? o
(M 1% (2) 10% ] (1) 11% 2 10%
(3) 5% (4) No fimit ;.L&q @) 5% () s @ 8
(5) Question not attempted 1hre. (5) W EC|
116. The standard which is attainable under the most ~ 116. 98 wwu il Haie® ama aRfefa § wr<
favourable condition is - faan < wawn 8 —
(1) Ideal Standard (2) Current Standard (1) areet wam (2) =g wwg
(3) Attainable Standard (4) Basic Standard (3) w1 yHg (4) smerva wHTg
(5) Question not attempted (5) 3Rt v
117. Which of the following items will not be M7= w75t % | S T oGt ¥ WA -8
included in Cost Accounts? arfi?
(1) Research expenses (1) 3101 =
(2) Insurance premium of business shops (2) amof¥s gam & 4pn s
(3) Salary to sales agents (3) fama Toie &1 969
(4) Payment of pension to employees (8) FHaIfE B YR @ T
(5) Question not attempted (5) srgeRe we

118. Dividend paid by the subsidiary company out of
post-acquisition profits is credited to -
(1) No impact in the accounts of holding
company
(2) Capital Reserve account of the holding

118. gifyyeyr & a1 & @l § | WEE HEA
gﬁ’rsﬁﬂmﬁmwmwﬁmm
(1) e S @ @t TR g g w8

@) wEEr® e % Oof wag a g §

compan e

(3) lm’eﬁtminl account of the holding company 2 @) et e & fAfE

(4) Profit and Loss account of the holding (8) ¥Er ST & @ S ' A H
company (5) areiive ue

(5) Question not attempted

119. Which of the following statement is not TRUE? 119 fp= #§ 9 &9 &u9 weg 81 27

(1) A retiring partner will not be liable for (1) vss war=ga IR ST Haifagfa @
liabilities incurred by the firm after his are B BN 984 @ 1E eIRal & fag
retirement. Seearl et 8 |

(2) Dissolution of a firm automatically results in (2 et v & e & uRvmEwY
dissolution of a partnership. m _g‘:ﬁﬁ} T WL BT A

(3) In partnership firm, the liability of the e T
partners is unlimited. e e ik ¥ TR SR

(4) On dissolution, Goodwill A/c is transferred (4) fages oX, @l W wEER @ G
to the Capital A/c of partners. 2 L=, ¥ R B f2ar e 2

(5) Question not attempted ShA  (5) sraRa wE

120. I forensic accounting, which flag denotes a
“too good to be true” scenario?
(1) White flag (2) Yellow flag
(3) Green flag (4) Red flag
(8) Question not attempted

120. =71 574 oRgi®A 6, B9 EW weT B8
@ for aga sror aRgyn @ gufar €2

(1) whE g9l (2) frer egw
(3) &1 = (4) &rer g
(5) arwRe weA

9.
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121. Find out the number of units initially introduced
in process I, when normal wastage is 10%, 5%
and 8% of the input in process I, 1 & III
respectively. There are 3,933 units of the
finished stock. There was no Abnormal loss ot

121. grftas withan # 9% # Frifia 9 18 dama
W T T Pifed, wia 9 &9, 9isa |,
I g I % o778 718 Sisal &1 99 10%, 5%
wd 8% 2| Affa www 3,933 foEa & &)
&<t ufiear & &1 s B a1 s

Effective gain in any of the processes - e R )

(1) 8000 (2) 5000 T ) 3000 (2) 5000
(3) 4500 (4) 4275 (3) 4500 (4) 4275
(5) Question not attempted (5) smiie we

122. Under the non-integrated accounting system, the
account made to complete double entry is -

(1) Store ledger control account

(2) General Ledger Adjustment account

(3) WIP control account

(4) Finished goods control account

(5) Question not attempted

123. Ram purchased goods from Shyam worth
¥ 4,000 and gives him a bill for the same
amount. Shyam endorses the same to Mohan.
At maturity, the bill is dishonoured. Make
Journal entry of bill dishonoured in the books of: £

Shyam -
(1) Bill Receivable a/c Dr. To Ram
(2) Ram Dr. To Mohan

(3) Shyam Dr. To Bills Receivable a/c
(4) None of the above
(5) Question not attempted
124. Which one of the following pairs is not correctly
malched?
(1) Ind AS - 23 - Related Party Disclosures
(2) Ind AS - 2 - Inventories
(3) Ind AS - 12 - Income Taxes
(4) Ind AS - 19 - Employee Benefits
(5) Question not attempted

125. Permanent working capital -
(1) is the amount of current assets required to
meet firm's long-term minimum need.
(2) includes accounts payable.
(3) includes fixed assets.
(4) is a minimum level of current liabilities.
(5) Question not attempted

122, dv—vdiga omEr gomell @ st Sl ufafe
ool &% @ fore g Tar @ & -
(1) ¥R waEs FaE
(2) \rT= WraTas! TATEEE @
(3) =y, wrd =T @
(#) Taw = = @
(8) argmle ue
123. 39 9 v | 4,000 % @1 A7 @ae N 9
39 ot & forv e B w3 =9 A9
w1 a9 Hy fRar| uRygaar w98 e
o= IETSRE B | Y S geas ¥ e
A arraRr @ o uRfe e —
(1) Bill Receivable afc Dr.  To Ram
(2) Ram Dr. To Mohan
(3) Shyam Dr. To Bills Receivable a/c
(4) SRt # | FiE N T8

(8) sl W

Fefafaa § @ o gm wd it 58

27

(1) Ind AS - 23 - HelOT 98 THSTHLT

(2) Ind AS - 2 - w&form

(3) Ind AS - 12 - 3TgaY

(4) Ind AS - 19 - FHaNT &9

(8) arafRa we

ol FrgEe gl —

(1) & Y drdeifer =ETw AATEEAT B T
?ﬁa‘aﬁmmwmﬁﬁaﬁm

|

(2) 37 @ mfEe v &

(3) et aRwufert wite s 2

(4) =], ST W <o 'R E

(5) sgale ue

124.
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126. The following information is given -

Equity Share Capital T 1.50,000
9% Preference Share Capital < 60,000 e
11% Debenture T40.000 =k
Profit and Loss a/c < 30,000
Reserve < 70,000

The Capital Gearing Ratio would be -

Mi:1 (2) 0.20 : |

(3033:1 (4) 0.40: 1

(5) Question not attempted

127. Which of the following information/s is/are
shown by budget report?
(A) Budget level of activity
(B) Budget cost of actual level of activity
(C) Actual cost of actual activity
Select the correct answer using the code given
below -
(1) (A) and (C) (2) Only (B)
(3) (A), (B)and (C)  (4) (B) and (C)
(5) Question not attempted

L

P
128. purchase Book is kept to record -

(1) all cash purchases

(2) all credit purchases

(3) all purchases of goods

(4) all credit purchases of goods only

(5) Question not attempted

129. When the Net Present Value (NPV) of an
investment is positive, then the IRR will be -
(1) Greater than the opportunity cost of capital
(2) Less than the opportunity cost of capital
(3) Equal to the opportunity cost of capital
(4) Less than or equal to the opportunity cost of

capital Eq
o=

(5) Question not attempted

130. Multiple costing means application of more
than one method of costing in respect of the
(1) same firm (2) same department
(3) same product (4) several firms
(5) Question not attempied

126. fyiferfee e &) T & —

AT 3 gl 1,50,000F
9% yaifyer 9 ol 60,0003
11% o= 40,000 %
Am—g1= @ 30,000
way 70,000

il SfIRoT Sy g1

(M1:1 (2) 0.20:1

(3) 0.33:1 9 040:1

(5) arqaifte wes

127. fepsferfiad % 9 ®ia w=sN gue e

BN uef¥ia & i 8 /&7

(A) nfafale &1 gue @
(B) oA & geafds W @ guie o
(C) arefas fafafey 5 arafas s
H9 fEd T Fe &1 IUATT BN FEl 96
i —
(1) (A) 3 (C)
(3) (A), (B) 3R (C)
(5) SrgeiiveT W
128. 5y qeadp,............ O] o fors & forg
v ol € |
(1) W YHe w9 .
(2) v SER WY
(3) 711 @& HHE BU
(4) Fae wWiel & FHE 9N Ha
(8) srgaifea weA
128. 5q fohef Fae 1 g& adw™ e (NPV)
HHWTHS &, o ATae ueay &% (IRR)
anft —
(1) Gof @ srEeR @rrd | st
(2) foft @1 HFHR ST A B
(3) Tl @ SiEER @I & aE
(4) gl DI SraER AT W B AT TED XY

(5) st wes

(2) maa (B)
(4) (B) 3R (C)

130. g5 e PR s af & L B
Hay F @rrd P @ ue @ afte ggfiy
BT AW |
(1) w9 EH (2) w9 T
(3) HwH oy (4) aFs Hd
(5) ariie weA
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131. State which of the statement is not true?
(1) Paid up capital can exceed called up capi
(2) The liability of shareholders is limited.
(3) A company is an artificial person.
(4) Share application account is a personal
account.

(5) Question not attempted

132. Cost of completion of 3/4™ contract is T 75,000.
Contract price is ¥ 2,00,000. Work certified is
60% of contract price. Cash received is 75% of
work certified. How much profit of the contract
i5 to be transferred to P/L a/c?

-

(1) 30,000 (2) T 25,000
(3) T 22,500 (4) None of the above
(5) Question not attempted

133. Firm's cost of capital is the average cost of -

(1) All Bonds and (2) All Borrowings -
Debentures e
(3) All share capitals  (4) All sources of =15
finance

(5) Question not attempted

134. Total assets of X on 31* December, 2022 were
T1.00,000. His liabilities were: Creditors
210,000, Bank O/D T 8000, B/P T 9000,
Outstanding salaries ¥ 4000, calculate his capital
on that date -

(1) ¥ 93,000 (2) T 69,000
(3) T77.000 (4) T 87,000
(5) Question not attempted

135. Which statement is correct for Hire Purchase
Agreement?
(1) It is an agreement of sale.
(2) The buyer is responsible for the risk of loss
of goods,
(3) It is governed by Hire Purchase Act 1972,
(4) The parties involved are called buyer and

seller. a9
(5) Question not attempted :rh--
. | [

136. Indirect material used in production is classified
as -
(1) Selling overhead
(2) Office overhead
(3) Distribution overhead
(4) Production overhead
(5) Question not attempted

- | ®
- ]
(=1

131. gard 5 ST oue W T8l 87

ﬂlgﬁ‘ﬁ?ﬁ,ﬁﬁ%ﬁﬁmﬁﬁﬁﬂﬁ
|

(2) SrREwEl &1 Sifd Wifdd 2
(3) ww it vws FfEw afdw 2|
(4) 3fer e @R S e wWer 2|
(5) RS

132.3% & 3/4 917 &7 G & B @Ta 75,000
T & % q&g 2,00,000% & | yfra &

1 60% & | Wi H1E BT 75%

WISl s £ | a6 U e o, am—si
@ P s fEar sem?

(1) 30,000 (2) 25.000F
(3) 22.500%F tdla%e‘rﬁ i
(8) argaifRa we
133. %4 o) Uolt &1 @rTe, sirea arra 8 —
(1) 791 &= 3w (2) wf) o &9
B UE I
@) w1 3w Gt &1 (9) A & Wi wiE
il
(8) argmiRte ueA

134.3] fRwmaR, 2022 & X @ ®ma gEiodl
1,00,000 T ot 96 <T@ FH YR 4 —
SR 10,0003, &% 391 8000, 27 faw 9000
T, ¥« da9 4000 T, g9 fas wwat gult s

HIfIT —

(1) 93,000 (2) 69,000 T
(3 77,0002 (4) 87.000F
(5) areiivG wed

135. favman g WG @ for S99 Su+ a8 &7
Hlﬂ%’ﬁfﬁlﬁzﬁmﬁlﬂlimm
(2) 711 & JParE wiftas
forsam 2|
(3) 7e v sy afefms 1972 g/ wfae
BT &
(4) g9 wfset usit &1 Har o fAdar o=
ST & |
(5) argaRe e
136. gegres H @19 T drell ardons arnf @
aifta g omen 8 —
(1) fawa SuRem
(2) wratera SuRem
(3) faawor gufterg
(4) Seargs Suftary

(5) rgeive e

9.-®
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137. XY Ltd. manufactures 30000 units with a

137. Xy faifies 30000 S@isai &1 Sae+ &) &,

variable cost of ¥ 20 per unit and sells them at foraa aRad=die @ 20T ufy g8 & ud
T 30 per unit. The fixed cost for that period wasm 9% 30T 90 ToE W fawmy @l ) 99
Z 100000. T A @ e 1000002 |
The Operating Leverage of XY Ltd. will be - Xy fofiee & fou oReres saies g —
(120 (2 1.0 (120 @ 1.0
(3 25 @ 1.5 325 @) 1.5
(5) Question not attempted (8) srgaRa wvA
138. Which of the following is the source for 138. ffarfige § 9 3wl &1 97 @ & =
buyback of shares? PITAT B?
(1) Borrowings from financial institution (1) fo<ig S & 9w
(2) Accumulated profits or free reserves (2) gfera = ar I Had
(3) Existing equity share capital (3) T T 3w oft
(4) None of the above (@) SuRET § 9§ BIE T8
(5) Question not attempted (8) s we

139. Assets in the Balance Sheet are shown at cost
less depreciation rather than their replacement
cost because of which accounting concept?
(1) Realisation Concept
(2) Money Measurement Concept
(3) Matching Concept
(4) Going Concern Concept
(5) Question not attempted

140. Maich the parties involved in a Bill of
Exchange with its role —
Parties —
(A) Drawer
(B) Drawee
(C) Payee
Roles -
(i) Writes the bill and orders for payment.
(ii) Receives the payment.
(iii) Makes the payment as per the order.
Code -
(1) (A)-(i), (B)-(ii), (C)-(iii)

(2) (A)-(i), (B)-(iii), (C)-(ii)
(3) (A)-(i1), (B)-(i), (C)-(iii)
() (A)-(iii), (B)-(i), (C)-(ii)

(5) Question not attempted

130, forg o Wl &1 qeius &g & e W
anTd # 9 w9 ueree By dwied smuwen

:'.-l"’ & wro faarar s #7
A () el TR EER
(2) g1 7710 W SgERT
(3) TugERTeT B FFHROT
(8) =Te] QT T RN
(8) argaRa we
140. faffma fvs 4 affeE vaar &1 g9
Hier | faes i —
THSR —
(A) ameaf / Rewal
(B) Wh&REal
(C) Wl
T —
(i) faer foraen & afv qram &1 ey &7 &)
(i) YT U AT 2
(iii) I & IFTHR A FEA |
E —
(1) (A)-(i), (B)-(ii), (C)-(iii)
(2) (A)-(1), (B)-(iii), (C)-(ii)
(3) (A)-(ii). (B)-(i), (C)-(iii)
(4) (A)-(iii), (B)-(i), (C)-(ii)
(8) arg=IRe wea
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141. Which of the following is true for inventory
© management?
(1) Economic order quantity has minimum to

cost per order. =

(2) ABC analysis classifies least value items in
A category.

141, 5431 weve & forw v o 9§ @t wag &2
(1) anféfes amewr wram % Wiy amdw we arra

A = B 2

(2) ABC faveiyor &% & &9 Hou arell Tqai
F A it # aeffpa wvar £

(3) SE—g—ergd (JIT) womedl  faffmior <6

(3) Just-in-Time (JIT) system is a demand-push T Mg JOTeh & |
system of manufacturing. (@) TuRrE @
(4) All of the above (5) oL
(5) Question not attempted
142. From the following information, calculate 182. fyefoifga gemmeil & wgaa Seters B oA
combined leverage - T —
Sales < 20,00,000 fama 20,00,000%
Variable Cost 40% gRad=eis s 40%
Fixed Cost < 10,00.000 @ S 10,00.000 T
Borrowings T 10,00,000 @ 8% p.a. TR 10,00,000% @ 8% p.a.
(1) 1.667 times (2) 6 times (1 1.667 UG 26 AT
(3) 10 times (4) 0.10 times @) 10 T (4) 0.10 71
(5) Question not attempted (8) s wes
143. Which statement is true regarding the scope of  143. gy afk oraies & &3 & Haw § Bryar
Book-Keeping and Accounting? TYT Y 27
(1) Book- Keeping has narrower scope than - (1) sgiss qorr o adrarr @1 &5 Wi
accounting. ey 2l
(2) Both have the same scope. A (2) 2T BT a T )
(3) Accounting has narrower scope than Book- (3) Téraren @ gae # S w1 e it
Keeping.
(4) Their scope varies depending on the ) g;?ﬂ &1 WS B MR T Bl e
organization’s size. 2
() Question not attempted 5) Nﬂ'ﬁﬁﬁ a4
144. In inter process profits, the output of one process,  144- ar=r: wfkaT @M #, U% i W aSeye, U
is transferred from one process to another at ufsha & gad afem # EER S B IGIEG
................. . fovar ST 2
(1) Cost price (1) SrE e
(2) The current market price or cost (2) yafere aoR Ho0 AT AT (+) i e
plus(+)fixed percentage profit =W wfaeE
(3) Net realisable value (3) 7 T
{4} B(I‘th”}ﬂn{il:z} *_Lr {‘} “}a{z]w
(5) Question not attempted :I-':F ®) armRa we
145.1n  the order of payment by the 145.FERE FWT WTEE B BH Ho il
liquidator............. are paid first. WA UEd e €
(1) Payment to preferential creditors (1) qEifrsm awent &1 CURIGH
(2) Liquidation expenses (2) |99 =g
(3) Liguidator's Remuneration (3) Preemee @1 TiftsfiE
(4) Legal charges (4) B or
(5) Question not attempted (5) s wet
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146. A system of costing under which several
enterprises use the same costing principles or
practices is called -
(1) Integrated costing
(3) Uniform costing

(2) Unit costing

(4) Standard costing @
(5) Question not attempled plaal

147. AB f&. &1 e sgua 2: 1 8 wafe @Ra

147. The current ratio of AB Lid. is 2 : 1, while quick

ratio is 180 : 1. If the current liabilities are
T 80000, then the value of stock will be -

(1) T 10000 (2) T 8000

(3) T 16000 (4) T 6400

(5) Question not attempted

148. Process costing is appropriate for -
(1) Transport firms  (2) Brick laying firms
(3) Hospitals (4) Oil refining firms
(5) Question not attempled

148. Which of the following is not a source
document used in job order Costing System?
(1) Material Requisition Form
(2) Employee Time Sheet
(3) Job Cost Sheet S
(4) Cost of Production Report
(5) Question not attempted

150. A budget which is prepared in a manner so as to
' give the budget cost for any level of activity is
known as -
(1) Zero-based budget (2) Flexible budget

146. g fAeivor @ v ol foraed sirfa a8

TUmH FHE anTd e figiar ar @aer @
JUANT HI E, BEed) B —

(1) e e i (2) s arra Rl
(3) Wy @i fafr (@) A e R

(5) areiRa wes

I 1.80 : 1 | @i =ne w1 80000 ¥ ®
€ o wie @ =0 8 —

(1) 10000 T (2) 8000 T
(3) 16000 (4) 6400%
(8) srgaiRa weA

148. gfgsan wra Fefeor fafer feesd Suga &7

mﬂmﬁ (aRas=)  (2) €2 g arel

(3) sl | (4) e oA BA
(8) srafRa ueA

149, g9 ¥ w1 SUGT AN elEida fae §
A #§ forar o aren S uoE T8 87
(1) |t | WO
(2) wiam wwa yus
(3) SuesTd ST A
(4) Feqre= e fard
(5) arafe W

150. & wofe, ot el off W & wfafafr & fog
quic T &4 @ oy 9ur feur wmen @
HEAT B —
(1) y—amenia auie (2) dEER 99

(3) Master budget (4) Functional budget (3) AR qoiE (8) FrfeTs aoie
(5) Question not attempted (5) arefRer wod
b |
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